Questions From Homework



Composite Functions
Combining Functions in a Different Way!

fla)=." +3x g(x)=2x+1

A new function /(x) is created when the domain of g(x) is
restricted by the range of /(x)

h(x)= f(g(x))

=J(2x+1) if o

B 3 The notation “ / © &
=Qx+D7+3C+D  peans the composttion of fwith g
=4x" +4x+1+6x+3  ands read “f composed with ¢.”
=4x” +10x +4



Composite Functions

(feg)x=f(g(x))
(gof)x=g(f(x))
(gog)x=g(g(x))

f(x)=x"+35.46 g(.)=3x-2

Find

(fog)x (gog)x
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f(x)=x"+5x+6
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g(x)=3x-2
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f(x)=x"+5x+6
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g(x)=3x-2

g(g(4)
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Homework
® $6)=3%x-5 o) = 3-5x -x°
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